PRODUCT NUMBER
20020008—XXX1BO1LF
_
<< ~ 0020008 — 1 B 0O 1 L F
F— A
=
Lo
- PITCH POLES LF: DENOTED RoHS COMPATIBLE
— C: 3.50 mm 02: 2 POLES
L — D: 3.81 mm 03: 3 POLES
- G: 5.00 mm 04: 4 POLES
H: 5.08 mm |
[ ] |
Q 24: 24 POLES
— B
O PROPERTY TABLE
Lo FCI SERIES NAME 02-350 02-381 | 02-500 | 02-508
PITCH (mm) 3.50 3.81 5.00 5.08
VOLTAGE RATING (VAC) 300 300 300 300 ;“_?MTETSERIALS
‘—\ CURRENT RATING (A) 8 8 12 12 1; ggggw% _I_T;EELRnZAI,;lbplF_{\iﬂECI:D RESIN, UL 94V-0 RATED, COLOR GREEN.
0)\ APPLICABLE WIRE RANGE(AWG) | 16~28 16~28 1224 1224 1-3 CLAMP: BRASS, NICKEL PLATED.
1-4 TERMINAL: PHOSPHOROUS BRONZES, TIN PLATED.
. WIRE CROSS SECTION (mm*mm) | 1.5~0.15 |[1.5~0.15 | 4.0~0.2 4.0~0.2 5 PRODUCT SPEGIFICATION REFER TO FO! GS-12.625.
WRE STRIP LENGTH(mm) adl adl all all > BCE»T(EEES ﬁ'é’é%'ﬂ& PACKING SPECIFICATION REFER TO FCI GS-14-1394
C TORQUE +/-10% (N-m/Lb—in) | 0.19/1.7 |019/1.7 | 0.4/3.5 0.4/35 4. FC\, SAFETY CERTIFICATE LOGO AND SERIES NAME TO BE SHOWN ON
2 PRODUCT SURFACE.
Sz SCREW | M2x0.4 M2x0.4 M3x0.5 M3x0.5 5. THE PRODUCTS WHERE THE PART NUMBER END IN "LF” MEET THE EUROPEAN
=58 . WITHSTANDING VOLTAGE (kV) 1.6 1.6 1.6 1.6 UNION DIRECTIVE AND OTHER COUNTRY REGULATIONS AS DESCRIBED IN
ZE3s OPERATING TEMP. ('C) |—40~+115]—40~+115|—40~+115] —40~+115 65-22-008.
§.‘§ 5 POLES AVAILABLE 02~24 02~24 02~24 02~24
ol T e—
oF io
EE_ZE' SAFETY CERTIFICATE Material Spec ref
EZOEE Mot code \/ tolerance proJection MM
o3¢ Heattreat
Ny Pleuu-tingjlginish &=
§588 Dr | BEER FU__ [ 062509 size Scale
855§ reviecnnoor | date [T TREFRFU | 062509 Product fanily A4
oo 8% TOLERANCES UNLEss L 8 (B F8 B 1 2B onr | GARY HSIEH | 062509 Model Name ECN T10-0042
sE 3E Rl oot 31 Tzeos—|eer | JOSEPH_HSIA] 062509 Model Revision REL Level RELEASED
Tre% x_Ts05 [ [momee[wil oo | [ | o TERMINAL BLOCK 2 20020008 Rev.
ngé e gé( 23:?3 - - - - J » Pluggable plug, hook entry side 3 D
55 ° z ANGULAR X | - - = = Pro/E flle | catalog no CUSTOMER [ sheet 1 0f 5
‘E% gg REVF: 2008~04-17
FEG%T

1 2 SPDM: Rev:D status:Released * printed: May 08, 2010




FCI CUNFIDENTIAL

PRODUCT NUMBER

20020008—-CXX1BO1LF

>

low)

ISA

ISAN
A

N
AN
AN

FC

This document is the property of and embodies CONFIDENTIAL and

PROPRIETARY information of FCl. No part of the information
shown on this document may be used in any way or disclosed to

others without the written consent of FCI.

02.8x1.7

Crpyright FCl.

o
OOy
%%

¢ X

‘ N = Number of poles
Dim A=Nx3.5[0.138]
Dim B=(N—1)x3.5[0.138]

(>

[O.11OX0.067] 05 - .
:é‘ SCREW TOL. Dim A| Dim B
40,0
2—6p +0.15[0.006]
o S
\ M © < 7-12p +0.20[0.008]
o ™~ . <
)\ o M_@j\l : 13—18p| +0.25[0.010]
19—24p| £0.30[0.012]
C TERMINAL
HOUSING
- SEC G—=G
[ 0.06 9] )
2p to 6p with wedge,above7/p
without wedge(including 7p) [Materil Spec ref
Mot code \/ tolerance proJection MM
Heattreat @_E
Plating/Finish
D Dr | BEER FU 062509 size Scale
Eng | BEER FU | 062509 Product fanily A4
Chr | GARY HSIEH | 062509 Model Name ECN T10-0042
Appr | JOSEPH HSIA| 062509 Model Revision REL Level RELEASED
FC' o TERMINAL BLOCK 2 Rev.
B o 20020008
J * Pluggable plug, hook entry side 3 D
Pro/E flle catalog no CUSTOMER | sheet 2 of 5
SPDM: Rev:D status:Released * printed: May 08, 2010




1 2 3 4

PRODUCT NUMBER SERIES NAME PITCH
20020008—DXX1BO1LF 02-381 3.81 mm

|
<C
I/I/
— |
87N 82.Y8 7)\\@7)\ 82
J XJ X)X
— |
— 17
p— 'I 'I
=
I:l . ']O 4
Dim A [0 4'09] SCREW N = Number of poles
— ' Dim A=Nx3.81[0.150]
B G Dim B=(N—1)x3.81[0.150]
- 02 8x1.7 TOL. [Dim A| Dim B
— K/ TERMINAL 2—6 +0.15/0.006
[0.110*0.067] P L ]
3 HOUSING 7—-12p | £0.20[0.008]
.—\ — 13—18p | £0.25[0.010]
0)\ S0 ' 19—24p| +0.30[0.012]
T s w—g—/):'
— IR
C o o /K
2 © Qo -':i /:':
[~ : ‘o) o,
253 ©s {:‘.{:’1,&;5:}
i S I
g E,ﬁt A A A
LSP5
szd 1.91 SEC G=GC
L¥ 20 i .
8%¢g [0.075] 2p to 6p with wedge,above7p
£E5c3 X . .
sast without wedge(including 7p)[Materiat Spec ref
sz §_S Mot code \/ tolerance proJection MM
55 @ § Heattreat
2ESS Plating/Finish s
22EoD br | BEER FU | 062509 size Scale
eoxS Eng | BEER FU | 062509 Product farily A4
22 2% Chr | GARY_HSIEH | 062509 Model Name ECN T10-0042
5530 Appr | JOSEPH_HSIA| 062509 Model Revision REL Level RELEASED
trus |.'9 » TERMINAL BLOCK 2 20020008 Rev.
O o g o
EE‘;-'; ‘/J ¥ Pluggable plug, hook entry side 3 D
%E 2 o Pro/E flle cotalog no CUSTOMER | sheet 3 of 5
0o %g TEVF 205017 |
565

2 SPDM: Rev:D status:Released * printed: May 08, 2010




1 | 2 3 4

PRODUCT NUMBER SERIES NAME PITCH
20020008—-GXX1BO1LF 02-500 5.00 mm
1 )
< !
— A |
= DDDD
Ly |
— 7
E ) 12.6
— Dim A [0.496] N = Number of poles
SCREW Dim A=Nx5.0[0.197]
] C—=— L Dim B=(N—1)x5.0[0.197]
) s A HOUSING :
/,/, _ B TOL. Dim A | Dim B
B ¥ o9 _CLAMP 2—6p | £0.15[0.006]
|_|_ A\ % \V 74 i |I A4 Y74 ":" TERMINAL 7—12p :I:025[OO1 O:l
I\ | m2 13—18p| 0.30[0.012]
| | oSN Mo HOUSING
. . ~ — N 19—24p| £0.40[0.016]
| = )
‘—w [ Lﬁ a )
) L = U]
[ m 1 t
W I |5 5
C l/ l/ 8‘ —
? o, Y 4.7
3‘ gg G<— [0.1 9]
%E%E 2.5 2.6
ESS% ‘ 0.102
§.§ EE [0.098] Dim B [ ] SECTION G—=G
852" 5.0
E gﬁ@ [01 97] Material Spec ref
§= 22 | "—| Mat cod tolerance roJection
5528 o o= Heattrect V p@_g MM
2ESe é \7 Plating/Finish
22Eop E R ¥ ST br | BEER FU | 062509 e .| Scae
°5+c8 ¥ Eng | BEER FU 062509 Product fanil
EE g% @B \B@ e GARY HSIEH | 062509 M;;ercNuneum 2 ECN T10-0042
S53e l W Appr| JOSEPH_HSIA| 062509 Model Revision REL Level RELEASED
E;EE I FC' e TERMINAL BLOCK 2 20020008 Rev.
EE:;‘; '_l—’ L'_| J 5 Pluggable plug, hook entry side § D
%E 2 o Pro/E flle cotalog no CUSTOMER | sheet 4 of 5
ég;% TV 2000017 |

2 SPDM: Rev:D status:Released * printed: May 08, 2010




1 | 2 3 4

PRODUCT NUMBER SERIES NAME PITCH
20020008—HXX1BOILF | 02-508 5.08 mm
_ |
—
= @D @
=
Ly |
- 12.6
E Dim A [0.496]
— G SCREW N = Number of poles
HOUSING Dim A=Nx5.08[0.200]
] 7/ Samm Dim B=(N—1)x5.08[0.200]
@) // o [';(O) CLAMP TOL. Dim A | Dim B
., B : @0 2—6p | +0.15[0.006]
) T A ~ T — TERMINAL
L ™ 7-12p | £0.25[0.010]
l ' o3| 7S HOUSING 13—18p| +0.30[0.012]
ﬁ [ F @ o 19—24p| £0.40[0.016]
AER | —
0)\ I ol
T =
C G 4.7
054 2.6 [0.19]
b : Dim B Section G—G
F 5.08
° [0.200]
'EO—I' (Ol ';I' Material Spec_ref
Mot code \/ tolerance proJection MM
Iz A § 1 §] Heattreat @_E
Plating/Finish
D @g@ B@ lJr‘OL I;EERIHI{'TJ 062509 size A4 Scale

This document is the property of and embodies CONFIDENTIAL and

PROPRIETARY information of FCl. No part of the information
shown on this document may be used in any way or disclosed to

others without the written consent of FCI.

Eng | BEER FU 062509 Product family
Chr | GARY HSIEH | 062509 Model Name ECN T10-0042
=7/ Appr JEIEEPH H?rIEARh;Jlf;\IE:EZLOCK Model Revislon . REL Level RELEASE;]
ev.
FQ! 3 o 20020008
* Pluggable plug, hook entry side 3 D
Pro/E flle catalog no CUSTOMER | sheet 5 of 5
REVF: 2008~04-17
1 2 SPDM: Rev:D status:Released * printed: May 08, 2010




